MA3471 Name: 50/4,7/‘0743

Quiz 1

D Term, 2010

Show all work needed to reach your answers.

1. (10 points) Suppose A= [ g :é ]

C:? (a) Please find the general solution of 2’ = Az.

- tr(4) =0 Ldt(4) =-1 = x=-1 N.=l|
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=S X(t)= c.e't[é:( < C, et[.’]

t (b) Please find a fundamental solution for ' = Az.
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< 2. (10 points) Consider the set {¢1(z), v2(z), ..., on(x)} defined for z € R.
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(a) Please state the definition of linearly independent.

J€ . ¢lis Lx iff ¥+ @+ .+ =0 Yx
= ¢(=..2G = O.
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T (b) If pu(z) = €*7® for n = 1,2,8,...,10, is the set {p1(z), p2(2), ., ¢10(z)} linearly
independent or linearly dependent? Please explain your answer.
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